lllustration = B09 GEHAEUSE, FAHRGESTELL,
RAEDER

SA001588

‘COMSTAR 24-CLASSIC EDV-NR.SA415 2010-03



lllustration = B09 GEHAEUSE, FAHRGESTELL,

RAEDER
Bild Nr. St.- Teile Nr. Beschreibung
Zahl
1 1 SA36795 TRICHTER
2 1 SA36959 HAUBE ASSY, INCL KEYS 24, 25, 26, 27, 28, 29, 30,
3 1 SA36835 ABDECKUNG LOW
4 1 SA36844 KABELBINDER 2,4X95
5 8 SA36847 SCHRAUBE EJOT KA40X16
6 6 SA36858 SCHRAUBE M6X16
7 4 SA36812 BLOCKKLEMME
8 1 SA36836 DECKEL
9 1 SA36837 WERKZEUGKASTEN
10 1 SA36922 ANSCHLAG ASSY, INCL KEYS 11, 12
11 1 19M8226 SECHSKANTSCHRAUBE M8X80
12 1 SA36809 HUELSE
13 1 SA36905 BUEGEL RH
14 1 SA36904 BUEGEL LH
15 2 SA36841 DECKEL
16 2 SA36925 RAD
17 1 SA36796 RAHMENROHR
18 2 SA36871 FUSS
19 2 SA36852 FEDERMUTTER
20 2 24M7047 UNTERLEGSCHEIBE B 13
21 1 19M7077 SECHSKANTSCHRAUBE M6X20
22 2 SA36767 ZUBEHOER ELEKTR. ANSCHLUS M6X25
23 2 14M7165 SICHERUNGSMUTTER M6
24 1 SA36927 SCHALTER
25 1 SA36911 KONSOLE
26 1 SA36811 KONDENSATOR 25YF
27 1 E63525 MUTTER M8
28 1 SA36798 KABELHALTER
29 1 SA36906 KABEL
30 1 SA36907 KABEL
31 1 SA36908 KABEL
32 1 SA36909 KABEL
33 2 SA36797 ISOLATOR
34 1 SA36910 ELEKTRISCHER LEITER
35 1 SA36806 EINSATZ
36 1 SA36862 SCHRAUBE EJOT-PT KA40X8
37 1 SA36810 LUFTFUEHRUNG
38 4 14M7162 MUTTER M6
39 1 SA36923 MAEHGEHAEUSE ASSY
COMSTAR 24-CLASSIC EDV-NR.SA415 2010-03



lllustration  B11 MOTOR, SCHNEIDWERK

SA001592

‘COMSTAR 24-CLASSIC EDV-NR.SA415 2010-03



lllustration  B11 MOTOR, SCHNEIDWERK

Bild Nr. St.- Teile Nr.

Zahl

1 1 SA36923
2 1 SA36926
3 1 SA36805
4 4 SA36884
5 2 SA36848
6 1 SA36846
7 4 SA36865
8 4 SA36845
9 1 SA36916
10 1 SA36799
11 1 SA36866
12 1 SA36800
13 2 SA36867
14 1 SA36801
15 1 SA36868
16 2 SA36802
17 1 SA31847
18 1 SA31848
19 1 SA36869
20 4 SA36870
21 1 SA36803
22 1 SA36804
23 1 SA36917
24 1 SA36918
25 1 SA36919
26 1 SA36920
27 1 SA36921
28 2 SA36808
29 1 SA36863
30 4 SA36861
31 1 SA36807
AR SA36968

Beschreibung

MAEHGEHAEUSE ASSY
ELEKTROMOTOR (INCL KEY SA36805)
LUEFTER
SECHSKANTSCHRAUBE M8X16
MUTTER M6

MUTTER M8

SCHRAUBE A M5X10
FEDERSCHEIBE A 4,3

DECKEL

HALTER

KUGELLAGER

ZAHNKRANZ, INNENVERZAHNT
SCHRAUBE EM6X80

PLATTE

O-RING 27,94X5,33

SCHEIBE

WALZE

GEGENSCHNEIDE

O-RING 26X5
SECHSKANTSCHRAUBE M8X25
GEHAEUSE

RING

WELLE

ZAHNRAD

ZAHNRAD
PLANETENRADTRAEGER

PLANETENRADTRAEGER (INCL KEY SA36866)

SCHEIBE

ELEKTR. STECKVERBINDUNG
MUTTER M6

DICHTUNG

FETT 120GR

COMSTAR 24-CLASSIC EDV-NR.SA415

2010-03



lllustration  B13 AUFKLEBER

SA001593

‘COMSTAR 24-CLASSIC EDV-NR.SA415 2010-03



lllustration B13 AUFKLEBER

Bild Nr. St.- Teile Nr.

Zahl
1 1 SA37040
2 1 SA36724
3 1 SA37014
4 1 SA36750
5 1 SA37041

Beschreibung

AUFKLEBER
AUFKLEBER
AUFKLEBER
AUFKLEBER
AUFKLEBER

COMSTAR 24-CLASSIC EDV-NR.SA415

2010-03



